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Curriculum Outcome

(N5) Determine the square root of positive
rational numbers that are perfect squares.

(N6) Determine an approximate square root of
positive rational numbers that are non-perfect
squares.

(5S2) Determine the surface area of composite
3-D objects to solve problems

(N4) **Explain and apply the order of
operations, including exponents, with and without
technology.**




Day 48_Section 1.3_ Warehouse questions_day 4.notebook November 13, 2018

Warm \n

A7l M\
. =
Calculate the surface area of the following

(Show all work)

4 cm

Fcuves X b faces

e /' = YadFfaces — 8 g\er
J
—Y2LSace — lb-Fac,e:
C - __J/ A e
X llb cvm™
Q_—_—_ bx\h
Yx 4 Y1bcm®

loem



Day 48_Section 1.3_ Warehouse questions_day 4.notebook November 13, 2018

e9
1 Up 4

Remember: 2 = 52 4 p2
b2 = 2 - g2

8in
=t - ol
b = \Qm—%o_
5 S L
C*=a+b* i b= FO
ln‘ ix cr= o+ b= 2.9
g = el ? 12in
c =135 P L2 gL_| s | =
8in Lt I L
SA=nr® + rs T LI [PUR T
'L ; - 8\0
SA=3(q) + 3@ @3y TS
SA= 2541y +33).5) A=73S. 6
SR = 635,95 cpt In=FH.0L

gy

| sw— UL Al VYL
4 V¥

- WS, g inT



Day 48_Section 1.3_ Warehouse questions_day 4.notebook

a) 7
cm :
mtjm 2 cm
3 cm
5cm
w5 2 2)
e | e | e
5 3 D
A= bxh A= bxh R =hh
R=5x3 A = 3x3 Pr= Sx?2
A= s r=0 s
AA= 30cm™ A = em> | 2P0
gp< 3o+ 12+ A0

Sp= Q,aome‘

— 1
smatte (10 )

\‘{\(\o\\’
Y
\
A= bxh
N = 1X3
p:
QP = Yoot
391: U4+ 4+
— l()cv“(\’1
—lgp' = SA 4+ SH;_ — OVer\(LP
- ek o —H
= bR ce®

November 13, 2018



Day 48_Section 1.3_ Warehouse questions_day 4.notebook November 13, 2018

See Page 29
Example 3

Warehouse Question
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Find the area of the warehouse with the attached storage space.
(Think if you were going to pajnt this....How much paint is needed???)
40m > No floors

= No whidows
=3 No dooY3

3N - )
Step 1) Calculate the sides of alfgfnt]he larger prism 19, 20,10
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Step 2) Storage space consist of 3 walls and a roof
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Find the area of the warehouse with the attached storage space.

(Think if you were going to paint this....How much paint is needed???)

40m

Step 1) Calculate the sides of all of the larger prism, ( YO X 0™ X Is""\
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So surface area of the storage space is:
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Step 2) Storage space consist of 3 walls and a roof (3am xlonX 5"\)
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Dlass/ Homewary

page 31

Questions: 8b,c

—ily.
MUST SHOW ALL WORK
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